Rates of Change Name: Total: /10

OF is a vertical fence, height h m,
standing on horizontal ground. B

A pole, AB, of length / m, o
rests across the fence. /m

P is the point of the ground

vertically below B. F

OA =xm, OP =y m and <ABP = aL. hm

1. Prove that x = htana A X O vy P

2. Provethey = /sino - htana.

3. By considering G and 4 , prove that y_ ! cos®a - 1.
do do dx

The end A of the pole is moved along the ground, away from the fence, at a constant
rateof 8m/min. If 1l = 6.75 andh = 2.
Describe the movement of the point P at the instants when

4. o= 13 5. x =15 6. coso = 2/3.

Rates of Change 2
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